Issued: 10/81
Revised: 10/07/97

WATEROUS

WATEROUS COMPANY

SOUTH ST. PAUL, MINNESOTA

Relief Valve and Piping Assembly, 3 Inch

REF NO. DESCRIPTION REF NO. DESCRIPTION
J1 O-ring, 3—-3/8 x 3-5/8 in. J25 Wiring harness (used prior to 8/5/86)
J2 Hex hd screw, 7/16-20 x 1-1/2 in., or 3 in. J26 Wire assembly
(CX and separately mounted only) J27 Indicating light wire assembly
Hex hd screw, 7/_16—20 X 1-3/4in., or hex screw _ 328 Wire assembly
7/16-14 x 1-1/4 in., grade 5, standard or self-locking J29 Panel plate (used until 2/25/91; after 2/5/91, lights are
(CMor CS pumps only) attached to pilot valve plate)
ji h(;iknvl\j?s;i% 7;%)6 n. J30 Indicator light, green lens (closed)
J5 Relief valve assembl_y, indicating or non-indicating jg; :'r:gd?gat:glrb“élh% \;mtl)lgrlter:;. (10 8piln')24 V- light no. 313)
(see separate parts list for component parts) ' .
36 Hex hd screw, 1/2-20 x 6-1/2 in., or 2-1/4 in. J33 Hex nut, No. 8—-32 (not furnished by Waterous after 5/15/88)
37 Self-locking nut, 1/2-20 J34 Lock washer, No. 8 (not furnished by _Waterous a_fter 5/15/88)
J8 gf:i(/z?nécrew, 7/16-14 x 1-1/4 in., grade 5, 1-3/4 in. or I35 ijgtgijgrgrtvérss’lg/gé? 32 x3/8 in. (not furnished
39 Elbow J36 Conpecting and sealing device (used prior to 8/5/86)
J10 Pipe plug, 1/4 in. bronze or steel J36 Segllng grp (_u_sed after 8/5/86)
1 O-ring, 3-1/4 x 3-1/2 in, 337 Relief valve fiting
12 Connecting pipe J38 Extension, relief valve (inverted pumps only)
15 Tapped flange, 3 NPT, 4-bolt J39 Extension, relief valve (with heater jacket only)
116 Tapped flange, 3 NPT, 2-bolt J40 Stud, 7/16-14 x 2-3/4 in. (used prior to 5/10/90)
J17 Wire assembly (includes items J23 thru J36 prior to 56 H_ex nqt, %/2._20
8/5/86, includes items J23, J26 & J36 after 8/5/86) J59 Victaulic fitting, Inlet
dual relief valves only J60 Victaulic fitting, Outlet
123 Actuator switch J61 Hex hd screw, 7/16-14 x 2-1/4
J24 Switch ground wire assembly (prior to 8/5/86) J62 Hex hd screw, 7/16-20 x 2-3/4

PLEASE NOTE

WHEN ORDERING PARTS PLEASE SUPPLY PUMP SERIAL NUMBER

SPL81263
PAGE 1 OF 5



DISCHARGE FITTING (REF)

J4
USED WHEN DISCHARGE FITTING
HAS THRU HOLES

NnE
>USED ON PUMPS WITH
138 INVERTED BODIES ONLY

J8 OR Jé&1
USED WHEN DISCHARGE
FITTING HAS TAPPED HOLES

J2 OR J62
USED WHEN DISCHARGE
FITTING HAS THRU HOLES

®
INTAKE FITTING (REF) THESE PARTS INCLUDED IN RELIEF VALVE REPAIR KIT,

REFER TO RELIEF VALVE ASSEMBLY

J4
USED WHEN \NTAM\‘
HAS THRU HOLES !
18 /%
USED WHEN INTAKE FITTING J2

HAS TAPPED HOLES USED WHEN INTAKE FITTING SPL 81263

HAS THRU HOLE
PAGE 2 OF 5
CM & CS PUMP MOUNTED VALVE REVISED: 10/07/97



DISCHARGE MANIFOLD (REF)

CXR WITHOUT
HEATER JACKET

THESE PARTS INCLUDED
IN RELIEF VALVE REPAIR KIT
REFER TO RELIEF VALVE ASSEMBLY

%
J8

USED AF

T

TO 5/10/90

USED PRIOR
TO 5/10/90

\ ~

CXR WITH

\HEATER JACKET

SPL 81263

PAGE 3 OF 5
REVISED: 10/07/97

CX PUMP MOUNTED VALVE




* THESE PARTS INCLUDED IN
RELIEF VALVE REPAIR KIT,
156 REFER TO RELIEF VALVE ASS'Y J56

J57 157

SEPARATELY MOUNTED VALVE SEPARATELY MOUNTED VALVE
WITH TAPPED FITTINGS WITH VICTAULIC FITTINGS

SPL 81263
PAGE 4 OF 5
REVISED: 10/07/97




PANEL PLATE MOUNTING HARDWARE NOT
FURNISHED BY WATEROUS AFTER 5-15-88

J33

J34 135

GREEN
(GROUND)

GREEN
(CLOSED)

SEE RELIEF VALVE PARTS
LIST FOR VALVE DETA\LSZ

AMBER

JZé* (OPEN)
*
‘ | 4 l 136 J29
& TF USED PRIOR TO 2/25/91
* AFTER 2/25/91 LIGHTS MOUNTED
123 ON PILOT VALVE PANEL PLATE

NOTE: ADJUST POSITION OF SWITCH SO THAT INSERTION OF A
015 FEELER GAGE WILL LIGHT AMBER INDICATOR,
BUT INSERTION OF A .010 FEELER GAGE WILL NOT

*
NORMALLY CLOSED PART OF WIRING ASSEMBLY J17

NORMALLY OPEN

126

RELIEF VALVE

=
Es
=
m

GREEN LIGHT (CLOSED)
BLACK

COMMON
GREEN

GROUND WIRE TO CHASS\SJ TO PUMP TERMINAL OF ELECTRIC SHIFT

UNIT, OR TO COLD POST OF IGNITION
SWITCH (2 TO 9 AMP FUSE RECOMMENDED
AT IGNITION SWITCH)

AMBER LIGHT (CLOSED)
WHITE

RELIEF VALVE

ACTUATOR SWITCH

ASSEMBLY AFTER 8-5-86 DUAL RELIEF

®

SEE RELIEF VALVE PARTS
LIST FOR VALVE DETA\L57

\ | ¢

©

RELIEF VALVE

VALVE WIRING

- El

Al

NORMALLY CLOSED
NORMALLY OPEN

ACTUATOR SWITCH

)23

136

126 127

GREEN
(CLOSED)

AMBER
(OPEN)

J32

J25

124

J29

J33 J34 J35

NOTE- ADJUST POSITION OF SWITCH SO THAT INSERTION OF A
015 FEELER GAGE WILL LIGHT AMBER INDICATOR,
BUT INSERTION OF A 010 FEELER GAGE WILL NOT.

GREEN LIGHT (CLOSED)

BLACK
‘ @ / RED
TO PUMP TERMINAL OF ELECTRIC SHIFT
A UNIT, OR TO COLD POST OF IGNITION
- SWITCH (2 TO 9 AMP FUSE RECOMMENDED

AT IGNITION SWITCH)
AMBER LIGHT (CLOSED)

N%NE g%REW
SPL 81263
PAGE 5 OF 5
REVISED: 10/07/97

ASSEMBLY PRIOR TO 8-5-86





